Algebra 1 Unit 5: Data Analysis REVITW

Directions: Show all work to recewve tall credi
S=L00.6 (2): 1 cun create and wve a seatier plot §oan covate best fit fnes
and wse the revidual fo analyse the beit it lne,
L The scatter plot shows the samber of CDa (e mllionsg
were sold trom 1999 (o 2005
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l’art A: What type of function would best (it the graphye
) Lincar function

Q Quadratic function

(C) Lxponential function

Part B: Based on this relationship, predict what year it 15 1f
approximately 700 million CDs were purchased?
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Part C: If ammrm 15 used 10 model the relationship

between dollars spent in technology and the year, which residual
would you expeet? Circle One:
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Residual B

2. In the table, « represents the number of hours you have
worked at a hl.‘mly salon .mtl_'}r represents the number of dollary
you have made in ups.
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: Part A: Construct a scatter plot
° y ol the values m the table.
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= Part B: Draw the hine of hest
w ® fitfor the pomnts you

praphed

Part C: What type of correlation (f any) 1 there between hours
worked and tups carnedy
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LS S o wniie o linear frnctron of a beit fof o 1 eas intarpoct the
. sinpe and y tntercopt af ot hneair saelel 1y the conte <t of th dto
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Part B W hoo does 1he slope mean i s conteare
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A Tara cremtes a budget for her weekly expenses. The praph shows

how much money o the acconunt at different tenes Find the
H|f|]w and y mten ept of the hne Then explaim whin they measn i
thia real warld contex
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O Tara kpends 350 cach week

@'I’;u;l owes her fnend $50

Part B: Interpet the yntercept ol 2600) n %*a tin
Tara spends $2600 cach wee p 0int

@ Tara carny $26000 each week

. Tara started wath $2600
@ Tara owes her toend $2000
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Part Az Interpret the meaning when given a slope of 50
. . - t[ *
® Fara receives §50 I | ';,-'(' y »
® Tara carns $50 cach week .
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CS-ID.8 8 (2): l.‘”'t. techmology 1 can compule and then tnterpret the | ST (0): T can dastingnnsh between corvedatton and caoation,
| vm-muu il f of @ near il ‘ . '
|5, You tmd a lu\; of fit for a set of data and caloulate that the B \Which statement helow might he caased by the statement,
correlanon coettivient tor the muodel 18 H :} "Whea ot tans 7
Circle 3 of the choices below: . ® it will be hotter outsude
|
s ! . more puddles will form on the ground
Positive correlanon ) OR Negative correlation | |
B —— | © the plants die
|
e | I
@ﬂdan@ OR Weak correlation | @ the house becomes warmer ‘
-___——-"—'_‘._'_.-_._'—_ i
(noud ﬁt tor the datD OR Not a good fit for the |
[dau PRSP | 9. The table below shows the prices of small popcorn and a small

soda at eight different movie theaters.

t e -89 1 = Brnng |
Price of | 5450 | $4.75 | $5.00 | $6.50 | $4.50 [ $750 [ $500 [ 8525 | |
i - L{ | @ 5, L : } - l = We a K‘ Small | H
| 6. Find the approximate correlation coefficient for a linear model m";‘; S5m0 1535 $i00 {275 | 5350 | §360 550 !
for the data. Semall .
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y @ - 0.8 Part A: Using the correlanion coefficient, determune 1f there 15 a |
e ® 1 correlation between the cost of the popcorn and the cost of the
1 e > soda. ¢ CAlCULATUR. W
= 0 e _. ? (e |
R 945 O0R Y=0.¢c
® Cannot be ! '_LLL -
A A A Is it a correlation? @‘{ES O NO .

Explain how you know:

|

| 7. There 15 a known relationship between the age of a baby (in i " 5 _ A an Iecnusd A

| months) and the weight of the baby (in kg). Use a graphing A1 1S O COrre lU Lon P S 1

| calculator to find the correlation coefficient for a linear model. - o = o - |

b G828 1s $hvona 1t |

|| <8t 2 i - Lo ~ K 3 .
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nght - J i

! kg 33 6 7.8 92 10.2 123 Part B: Is there a cause-and-effect between the cost of the popcom I

L and the cost of the soda? Explain.
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‘\ 3 C C} Does the cost of the popeorm gause the cost of the soda
| Part A: Correlanon Coefficient: = 5

| COYES @ No
|

: ; ) Explain your reasoning:
Part B: What does the correlation coefficient in thus context tell g ’ "

you about your model? Select all that apply. m DYi (,'C S aY‘f Fa nd o

_ & cannot direct
~ Posive correlauon OR Negative correlation d ‘ ge
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( Swurong correlaton OR Weak correlation

= -




